W\

D, S %é%
A T
i

N S

)




BGT |

BGP |

BOT |

BOP |

Only for size 100cm

SIMBA

BGT

BGP
BOT
BOP
NP
NL

X
X
X
X1
X2
X2




x8L
x8L
x84
x20
x2k

2
E|7_805
x = = < 3%
A

TRZ M5X35

XL
XL
X2
x6/x8
X8
X3
x2L-32

BKP

SIMBA

S50 M6X50
(0 T

K8 M8X35

Q)

BKO

DR
LKS*

SCH

LDS

SCH

ST

ST

*8x LKS - only for size 100




K8  MB8x35

() )

TRZ ~ M5x35

)T ) MY




/d1

GEXSW







K8  MB8x35

() )

TRZ  M5x35

) =TI ) I













TRZ

M5x35

)T ) MY

K8

M8x35

i

)




8X

GEXBIW

/4l

GEXGIN







TRZ  M5x35

K8  M8x35

X4 o¢ o¢ O¢ &4 o¢ ¢0 ¢0 0 20

oe oe o¢ o¢ oe oe¢ ¢0 0 20 .







S50 Mo6x50

()

\ \ \
] / / \
VA - )

\ \ \

(e
(.







W25 MEx25




’/¢
\

N

A7
\_ N




o

IMPORTANT @

@
> ;; < Beds are for sleeping, Prohibit more than
AA- @ LOWER BED
not for jumping one person on bed
@YEARS
Use only matfresses Bed parts have 2 years
with thickness of 8-12 cm warranty in normal use

Use the ladder to get in and out of the upper bed
Do not hang on structural elements

Design and execution in accordance with the standard
PN-EN 747-1+A1.2015-08

Wooden parfs should be cleaned with a dry cloth and ordinary
mild defergenfs for the care and cleaning of wooden parts




